EAGRAROBREERT — 2 N— ABISH —F

202011 A7H (+) 10E=H1H8

m%ﬁiﬂlﬁ,‘;u B #5%—#& (xmm | memml - |y @ oo pa
[A&4£] 17 :800,000 3 ~ 23#%&:280,000H ~ 33#&:160,000 . 4 7#&:120,000 @ ~ 5 j& :80,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N FRREMER 144, —5-5- . — AT (FH)
1 2 mPAWAYE Ry o4 54.0 1(4_4)9 565 %.8 ! (5_111) /J\)Ht;;im
:d—IR7Ya—)b B8O/ =%—-4 YA 745
N = > 8 | HEA 1:44.9 4-4-3-4 [39.9| — 5 486 | BT (BA)
2lglg|YzVT ~ % 5600 (74%) (-4) | EHER
L:F 1 =TANA B:bhol—T7 87— H—L—-TJ vy T7—LAERS
. ZHEHL 145, —6-4— . — WMAREE) (BH)
3lgliol 1 ¥amn—1t o4 4 1(415>1 6-6-4-2 | 40.1 3 ;1_725; =ﬁmm
Lix42avr-5—- B:TELI AR 2= 5 FiS
S — . BEBEK : —7-7- — HdE= (E5)
al5l5 | RTFNE-—F1 Y i o4 e 1.(435).7 7-7-7-5 | 40.2 2 ::31%3) Fefi
L:O—-X¥x>J4L B:r—Y—kbrXKRL AR
i 7 # o8 | ERBFFR 1:46.0 2-2-1-3 | #1.2| — 4 491 | BHEZ (BH)
. NPEEYEE: 56.0 (0 1/2) s | () JP N
LOA-—J X124 B:IX7IEL b HBE77— L4
S 55 4 4 | BERI 1:46.6 8-8-8-7 |40.7| — 6 446 | BFTF (FHF)
cMBle|lL—7>77> 54.0 @ (o) |HL=
:y07% #:7zU—-7 =k e
. . ) || g4 : -9-9- - PG R ET )
7171 8 TJIH—ZEYw b 4 7 o 1.(416>.8 9-9-9-8 | 40.8 7 (4:313) tég&;
L7 RvM4¥<y X B:F)F42>210 EvJLy RT7—L4
= S 4 8 | HilRIhEA 1:47.4 3-3-6-6 |42.2| — 10 | 521 | AHiEEH (SH)
811|711 —TANZ 56.0 3) 4e) | W) 77— pEVa>
REATAT v — BNTILY pal=loie
L 3 S o6 | LiniES 1:49.6 1-1-2-9 | 44.8| — 9 515 | FHIA (&)
9 3 TUITLT—L 54.0 (214) (-10) lJ.ll:lEﬁ"_l
L:A—-F7h743 B:¥vy bH—0 SRS
P s 410 | KFAE 1:50.3 10-10-10-10{ 43.6 | — 8 473 | KFAEEA (S0)
10077 A A VAVE 56’.'0 (3) 0 (#%) JHB
L:7A7% B:EXT7O9ITR HE77—L
® 1 —F—@EBIERL
1T=7r= 3,4,1,9,2,10,5,6,8,7
2a=5F= 3,4,1,9,2,10,5,6,8,7
Ja=9= 4,3,9,10,2,1,5,6,8,7
40—+ — 2,10,4,9,5,1,6,8,3,7
[ N5
B 2 130M4 714K 2-9 280M e E 2-8 290 JEE 2-9-10 1,370
B B 2 1004 2-10 270M B = 2-9 730M 3EE 2-9-10 3,500
9 200M 9-10 1,100H B H 2-9 630M
10 1609

ARICOVWTRDTEEERROODE. TR LI,




